XZgnES R1-081

PN 840 107
120 1A 600
g 79UR=-4 BO0H
> 10t
a
S S !
BADEASR 1=6.8 ° 2FVVARMN, Dy e —. ARy %Y
¢ 27U 909 e = Fu b MB
EPDM/Sw %>
LFRALSE ‘ S x10
M67gf ! b
< (S5 | mER 27UL2 t=2 HUtE
M6+ b ‘
&Q (B2 IIBE) ‘
= #25 M6x30 BE |
T FryFouyd
(@] — < o
= 25 UL 2K/ 27 010 |
4mm F22E2 \ 5 Hiftt
ey NI WR 27 VL2 t=15 [=50 |
- |
2| Zgxg W=125 © |
o | A7vLZ =15 HU N ‘
o S ¥o) !
O | ZBkgYa YN E o € |
M |
- |
(@) |
— O
g |
L0
[€e)
EHEINFI(BIR)
i £8 (38) Bt - 2 (BISEIE) =
#3&710\"%7’4/ 6
(Y342 5H)
#r@OTE 590 50
gHROTE 690 32
20
17
t—y-uyyg
/ =1/ s o]
BKR (3li2) \ -BAY o L
2702 t=1.
HEH (218)
“BRAG YA U NEEEE S=1:2
N \ " i B 5 e
Ixek SUSs#ONY F TH—D-60 LA - B TR A £ FOROB cmrshUrsTyIRRS
LAEawW w8 A - :
‘ B A
I # A E
2 N o s / 1




NEE#EES RT-081
IS AA 87
120 527
2 FI2UR=-A BO0OE
— 1688
!
" 20 & 7
' EADEASR t=6.8 O 2FVLREMN | DY e TASRYEY
2FYVI0v - Fu b, M6
EPDMIYw +2
FTRREEE 5 x Wé ’
M6 v h b
5 (Bf5HR) RE#R 27003 t=2 HUtE
M67Fw b
& CETIe )
BF
=) #23 M6x30 =
© FruFoUy T t=1
B AT VVAKESAT o)1 #R 610
t=15 HUE
4mmT 22K 2 N2y 27202 t=1.5 L=50
0 y-yyg
f@]
— ZRKg) W=105 — w0
o 27002 t=15 o~
o c -
- lg]
Q| ZBKkgYaA N =
Y]
(@)
= o
M
L
«©
FHEIII (BIR)
M| E8 (32) B2 (BBBEE)
Bk
CEEVAN: )
= J ()
30 A LEEOTE 30
150 KRR O 32
~ i ;
Bk (3l3&) 7, Q)
AFYL2 t=1.5
LB (Bli8)
"B YA UNSEME  s=12
2 % N . s 8RR - e = A - =—
THEH SUSE#ONY F K= Afi TH-D-60 R - TE R A 2 FOROBL zmrshUTSTyORRar
LAEw @i A
‘ - Bk ]
N Y e % A 2
2 5t N o T o = / 15




X

D
o3

ERES RT-081

BN 840
120 W 600
S -4 B6OE
e
g
5 3
“ S
BAVEASR t=6.8 © JuamAL. 9vye dastyEy
Q VI0v e Ty b,
‘ VAVEM]
FFBEESE 10
M6 b g ‘ b
- (aftiR) | b 27VL2 t=2 HUtt
M67 v k ‘
& (B2 U5 ‘
o 23 M6x30 BF \ s - _
= FruFoUs i ATLA =]
,/\E
2 27 VL AKERLT 610 B% 610 | pmi”
| b 27U t=15 HUtk
4mm FI2ER Ao 25902 t=15 L=50 ‘
0 S-Yv7 ‘
L2 —BAY W=70 |
- 270X =15 HIHE |
0 ZBAKEYIA N !
- |
(@] |
. |
«©
Bt -2 L-30x30x3 £ 60
| (T8F8 - BBHIE)
$47 —/BJ
A e C—100x50x20x2.3
B (31%2)
S-Uv7 (A8)
#HEBOTE 590 30
22 100 gHEOTE 650
20
17
AR tEd (312) Py
i
Ay = —
(31i) = EL%M o~
7%
272 t=1.5 37
BRI A UNBHEEE S=12 |
|
2 ¥ - A . 8RR - ¥ [ E =3 _ —
TIERH SUSﬁﬁD/\ W F TH-D—60 B - BE aaﬁ% = A B =RISHIATISTYIRRER
B LAnkmiE N B} “
N iPGe
- ] 1# ’ /A g
Rl 2 N - H Ve #




XEgnES R1-081

WM& 62
W4T %
S FIUR-
— 188
: /
)
Y 20 6 ‘7,
! BAVEAS2 1=6.8 ° 2FVUREMN, Dy e - AR EY
U0+ = Fu b, M6
EPDMA
FTRRLEEE 5x1
M67L\y) q
5 (Bf58) BE#R RTFUL2 t=2 HUtE
M6Fw b
& (B2 IIBE)
= #2J M6x30 BF
— FruFouvd
(@») -
2 AT VL2KERAAT 610 "R 610
RFULRA t=1.5 HUtEL
4mm FI22EZ Ny 27202 t=1.5 [=50
Lo y=yvg
fe)
— ZBKY) W=80 ———
o 2702 t=1.5 HUEE
< ZBAYTa AN
- . M8H IR « Fo FBe
= 5mm7 2 2L 2 (BBET)
0 THEE (HEERM) o
B RERMD o MR t=2.3 TNIME i
BHT 0 (THRER) 1
L-43x45 BB SHWR t=2.3 o
WE“"”%/ / M8 3-F27U1+ !
(Y34 UhBik) L=70M T |
Y-UvJ (A8) \ |
A (Bl)
30 HEROTE 30
RAROTE | 28
ﬁ»ﬁ“
20 |
KENAIR \—ﬁiﬁ (BI&)
F2I7 NI4T
iR s
(38) =~/ Fa |
ZBAE) ZBAY) |
27Ub2 t=1.5
. iﬁﬁvw )/qﬂﬂi (F14%)
: sy N T™HEE. B7 T,
2y O PER LN 3 e 2 | TH=D-60 | mgmex. wniey b,
20 | I-F22U1- (LETBFER)
7/ SAT )
[ZBAY Y34 VB X-IH |
I#&H SUSHS D)\ v F R — At TH-D-60 it 5 - BE :ﬁ% = # AR B £ B SISO TISTY IR
LAEaW w8 A
. " " - fitt i "N %
_ s £ . o &
st AN = / ]




XEgnES R1-081

37 BN 840 37
120 W 600
S 7oUR-4A B60H
- 8¢
e
0 /
BAVEASR 1=6.8 AT VVARIN, Dy o+, TANy Y
¢ 2TV I9v = Fu b M6
EPDMty 33
LFRELSE ‘ 5% 10
M6Fw b 4
- (& 5HE) ‘ mE® 2FULR t=2 HUtt
M67Fw b ‘
& (B2 V1B ‘ 25
o 23 M6x30 BF \ pom - _
= FryFoUyd i BRE 27002 t=]
g
2 27 YLAKRSAT 610 #7610 i ?é;]pmfr
10 78 P \ BE# 27VUR (=15 HUtt
4mm 79 2E 2 } Ry 2MR 2702 t=1.5 L=50 ‘
2 aIV) ) |
- |
= ZBAY W=55 o |
5 27902 =15 HOEE Q |
I}
Q TBKYYI AN - «© !
Q
e |
RS Bl BiE-2 L-30x30x3 E&45 ‘
~ (1I5F8 - BIHEE)
/% \\ L—65x65x6 (8i8)
ksS4 7 b
(Y34 8H)
Y-Uv7 (3)
30 HEMOTE 590 30
32 ALC 100 EHREOTE 650 ALC 100 32
N\ 20
/ tEH (B1) 17
Bk (3i2) UV
R —
j@f@ 2]
7%
272 t=1.5 37
ZRKY YAV NBEIE  s=12
- ,, N ) . i8R - B [ £ A B 4 - =
IHEH SUSﬁT%D)\ v F K — AT TH-D—60 HigH - g gT;t,fg% x R £ B B SBISHIISTYIBRRS
B LAnkmiE A
3 L - ED B 1% - Bkt K o o o o %
R 2 £t K T T T T = / e




X

D
o3

ERES RT-081

TS 840
120 W 600
S FIUK=-5 f60H
- 466
e
g
, va
! BAVEASZ t=6.8 S2FILRRMN . Dy e, TARyFY
¢ 2TV Iy e - Fu b, M6
EPDM/ty %7
ITRELEE | ‘ 5% 10
M67-yj 4 !
- (AiEHR) ‘ RER 270U t=2 HULE
M6+ w k ‘ =
& CEDIS D) ‘ 5
<
o 23 M6x30 BF \ i o= - _
= YryFoUy T i BRZX 27002 t=]
g
2 2T VL AKES4T 610 B% 610 ‘ Téf}j )i
10 ‘ el 27 L2 t=15 HUtk
Koo 2FYL2 t=1.5 L=50 ‘
0 507 (B = f\( % - ‘
e M
= Y |
= O | K535 o |
(@} L
@ \/ N M |
0\ ° e Gl 9 ‘
g |
A\ |
EHENIN (AR) \
5 (A8) —) WA — 2 CRIBEE)
50 fEBOTE 590 50
100 150 wHEOTE 690 150 | 100
BRZ (512)
\—mmmﬁ)
. . A . o B - & [ &4 — ——
TIERH SUSﬁﬁD/\ W F K AAtFE TH-D—60 WA - BE aaﬁ% = i F A B =RISHIATISTYIRRER
2 LAOfmsx A }
W 1 |a B i Lt A . 2
Rl 2 5 N - H Ve #




X

D
o

gRE= RT-081

BMTE 840
120 I 600
S F79UK-4 BEOR
> 168
Va
. 20 2 ’
[ | Q ///
EALVHASZ 1=6.8 A3 2F VLRI, Dy e - TR EY
¢ 27V 700y e Fu b, M6
EPDM/ty %3
LRSS ‘ 5% 10
M67 v b g ‘ b
- (RfBE) | mE# 27902 t=2 HUtE
M6Fw k ‘
& (W25 ‘
- |
S #35 M6x30 BF |
T FrvFouyd i
2 2F VL RKESAT 610 2% 610 ‘
KoM 2FULR t=1.5 L=50 ‘
Q |
: w
EHENTI (BR) \
£5 (A8) M -2 (CRIERIE)
30 frmodE 590
100 150 gEEOTE 650 ‘
\—ﬁmmﬁ)
e SUSERONY F K= Afl#E TH-D-60 e L : = 88| cmrsarrsTyoMRat
D LA B N —
o N i 1 - Bkt N o o o o g
R 2 st Aﬁ o T T T = / #




